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Answer the following very short answer type questions in one or two sentences.

1. R S ARG KNO, 3 H,80, % wrer fvam 2relt H
What happens when pyridine reacts with KNO3 and H2S04?
2. AR, W Y e s W 7,707

Thiophene is more aromatic than furan, why?

3. Y e et 1 e ww s ww Sy s FAferer TS AT R

Why is the keto form of aceto acetic ester more stable than the enol form?
4. TS 3ifeeaten 3 $or T v e
What function does ether per

5. FIHIEN T SieraiishiaT R ey &
What are called chromophore and auxochrome?
6. SRR R Pt et
What is isoelectric point?
[iasiiniEc i R R
What is glycosidic bond?

8. TS Wi o 3

What is furfural test?

%mﬁaags—aﬁwma’f%mlsomoo e HAT H S| (2x5=10)

form in Grignard reagent?

Answer the following short answer type questions with world limit 150 to 2

L. ﬁmmﬁmmwm%ﬁ?

Why is pyridine more basic than pyrrole?

00. (2x5=10)

(OR)
TR WL T 7
What is Scroop synthesis?
2. g sl ¥ e i v e e




How to change the following:-
i. Methyl alcohol into ethyl alcohol.
ii. Methyl Cyanide to Dimethyl Ketone
3. DA Td ST 7 e TS AT
Explain the difference between D-mannose and fructose.
(OR)
FIR 3RS B TE=T vg 39T A
Write the structure and use of Sanger reagent

4. = Fr 9= B [ g 39 R
(a) HerwEe A ORGILEEIGE

Write the method and uses of making the following-
(a) Malachite green (b) Phenolphthalein

Or
SRR = &7 3e1ehT 3UaieT 9T
What is Ziegler-Natta catalyst? Explain their use
5. R ofa¢ o s & wHEEy
What is Beer-Lambert law? Explain
(OR)
WIS FFIAT 1 Rigia w4 §?
What is the principle of ultraviolet spectrometry?
fe=TifeReT &re Searliar et 3 3eaR 300 @ 350 2reg Ao & ATl (3x5=15)
Answer the following long answer type questions with word limit 300 to 350.

1. forar fafy g -
@ TR Egmm  (b) Y o

Explain the process:-
a) Fischer indole synthesis (b) Medlung synthesis

(OR)
rsaIfFTATT T Fr ey T AR} &7 goiser RN

Describe any three method for synthesis of isoquinol‘ine.

2. 1B E Sa-
(a) n-sgfee ferferm simasT & fRar et 2|
(b) et fSieh TuReia 3 wmer fomam e 2
(c) FIe STEHTFATSS & ATY TS TPehaten frar awar ¥
What happens when-
" (a) n-Butyllithium reacts with bromobenzene.

(b) Phenyl zinc reacts with pyridine,
(c) Grignard reagent reacts with carbon dioxide.

(OR)
w1 & fFpafafey Tose Hifsw
(a) FACT WA (b) Rprefewhr rffawar
Explain the mechanism of the following ‘
(a) Clasein condensation (b) Reformatsky Reaction

3. T ET § e-
(a)  GehIS oh g G ot & T e 2




(b) gﬁaﬁﬁmﬂmmﬁaﬁwﬁwmwa

What happens when- .
(a) Sucrose reacts with dilute mineral acid.

(b) Fructose is oxidized by nitric acid

(OR)
Rpfergrei Fearwor oY Ue feeaol fafaT|
Write a note on Kiliani synthesis.
4. STTeHH TR o HE TR H T I
Explain the difference between addition polymerization an

(OR)

d condensation polymerization.

Hftreg feouoft fafee-
(a) PVC (b) AT 66
5. dferea feouoft faf@T-
(a) T faEgTasT  (b) fReRfvie HEl
Write a short note -
(a) Chemical displacement (b) Fingerprint region
(OR)
m%%Mummw%m@émwﬁmﬁmm|

Explain Woodward Fisher's rule for determining the Amax value of conjugated Dyne.



